
Math 2001-002: Intro to Discrete Math Activity: RSA encoding Fall 2025

Group 1:

Message: D k = 35 m = 39 answer=14

Group 2:

Message: S k = 21 m = 65 answer=14

Group 3:

Message: M k = 31 m = 91 answer=23

Group 4:

Message: C k = 23 m = 65 answer=52

Group 5:

Message: T k = 19 m = 77 answer=51

Group 6:

Message: H k = 23 m = 65 answer=47
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Group 7:

Message: T k = 29 m = 91 answer=88

Group 8:

Message: E k = 19 m = 77 answer=36

Group 9:

Message: R k = 19 m = 77 answer=35

Group 10:

Message: A k = 35 m = 39 answer=32

Group 11:

Message: I k = 35 m = 39 answer=37

Group 12:

Message: E k = 29 m = 91 answer=71


